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Change the subject in the following sentences to plural as shown

inthe example.
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Fill in the blanks with suitable demonstrative pronouns.
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Fill in the blanks with suitable demonstrative pronouns
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Answer the following questiond
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Change the subject in the following sentences to plural as
shown in the example.
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Fill in the blanks with suitable predicates.
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Write the plural of the following nouns

g ey el 4> 9
LW S A <
0 ok T o
Py R = Sz
(e 5yl ! &
o b 5 5k S IS

by 2 o 9° o3

J s Ja> 53 4153

EJE e,
w.i!\w (dy\mwu; g,...é?(! )
Answer the following questions using the dual
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Fill in the blanks with suitable words ,and vicalize them
with the correct ending;
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Change the subject in the following sentences to dual
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